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1.

When the Constitutional Amendment Act was
enacted to make the Panchayati Raj Institutions a
third level of government?

(A) 1994 (B) 1992

(€) 1998 (D) 2001

Cuastion ld: 1
Who considered the neutrality of the Civil Services
most  important aspect of  democratic
government?
(A) Woodrow Wilson

(C) Max Weber

(B) Earl Atley
(D) Herbert Simon

Quastion Id 2

What is emphasised in the theory of scientific
management?

1. Rationality

2. Specialisation

3. Technical capacity
4. Predictability
What is correct?

(A) 1,2

@ 2,3,4

(8)1,2,3
(D) 1,2,3,4

Question ki :3
Which Constitutional Amendment Act provided
for the establishment administrative tribunals?
(A) 42nd (B) 43rd
(C) 44th (D) 45th

Question ld:4

Who administers the elections of municipal
corporations?
(A) State Election Commission

(B) Central Election Commission
(C) State Government
(D) Urban Development Department

Question ld : 5

3 =

GEgd ol ERmel B WRGR @ Jdi WK

frfrafia g3 o
(A) 1994 (B) 1992
(C) 1998 (D) 2001

Questionid 1

EXER P S ASAY] Y& HET A2
(A) g7 foee (B) 3t weet
(€) ¥og &R (D) gwed AEHA

Cuestion d: 2

Yofre e foera A e wod fRar
)

1. qHoT

2. iq“\’\ﬂrﬁﬂ.

3. TR G

4. Al

PIF 9T FEl 87

(A) 1, 2 () 1,2 3

€ 2 3, 4 (D) 1, 2, 8, 4
Question Id: 3

TS oeRTl @ g @1 waEE B
e d@oee sfRfyas | fear T

(A) 424 (B) 43d
(€) 447 (D) 459
TR Brmt & gEE 1 aaTer i BRdl §?

(B) &= AT 3MAFT
(D) w=dt famre

Questionld: 5

(A) <759 FAE AT

(C) =g I¥aR
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6.

10.

L

Which kind of benefit can be drawn from social
audit?
(A) The disadvantaged groups get the benefits.

(B) It does not promote collective decision making
process.

(€) It develops financial resources and social
capital.

(D) It does not create deficit in the budget.
Cuestion i 6
For which sector the administrative reforms

commission suggests reforms?
(A) Consumer protection mechanism

(B) Economic administrative mechanism
(€) Information Commission at the state level

(D) Disaster management
Question id: 7

When was the classical theory of public

administration developed?
(A) Later half of 20th century

(B) Later half of 19th century
(€) First half of 20th century
(D) First half of 18th century

Cuestion Id &
The period of the Rolling Plan was
(A) 1980-86 (B) 1978-80
(C) 1985-90 (D) 1990-95
Question |d -9

The Second Five Year Plan was based on the
model of
(A) P.C. Mahalnobis

(€) V.K.R.V. Rao

(B) D.N. Gadgil
(D) B.R. Shenoy

Queston Id ;10

What is not included in the para-military forces in
India?
(A) Asam Rifles

(B) Special Frontier Force
(C) Indian Coast Guard
(D) Indo- Tibetan Battalion

Question Id: 11

10.

11.

AR e § RFE WeR @1 o WK B

22

(A) e T @ W $RA € |

(B) 7= wHRE Fulae uiea B dedied Tl
& © |

(© ue R damH iR amie o ek
HR © |

(D) ug guie F TR BT GOl TEl dRel ¥ |

(A) SUdeRT |RE e

(8) orf¥fep wremvAfeen cHERRN

(C) Ty wR GoAl A

(D) Uer geEgA

Cueston ki 7
SF AT B Fee e o AR
fpar Tar o
(A) 20 v & ST
B) 19df Tarsd) & SN
¢) 208 v & yaid

_— e

(D) 1gdf e & qa

CQueston id - 8
JifeRT @i @t safy oAl
(A) 1980-86 © (B) 1978-80
(C) 1985-90 (D) 1990-95

Cuestion id : 9
Ty duasim g gy #Afed W EIRG
il
@) €& mEemew  (B) huA. TR
© GHemrd w@ (D) fIR. REQ

Cuestion id : 10

RT3 aeidfe gd § @ wie el 82
(A) ¥ NIgHed

(8) AREA HiewR BE

(€ e are e

(D) grSHEEaE Seiad

Question Id - 11
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12.

13.

14.

15.

16.

17.

When the Child Labour Act was enacted?
(A) 1987 (B) 1998

(€) 1986 (D) 1967

Question ld:12
How many laws have been enacted specially for
the welfare of construction labour?
(A) 3 (B) 4
€ 2 (D) 7

Question id: 13
MGNREGA provides employment to
(A) Only BPL families
(B) All families in rural areas
(€) Families who do not pay income tax.
(D) Non-beneficiary families of any government
scheme

Question ld : 14

The 1987 Amendment to Factories Act of 1948
provides for
(A) Occupational safety and health

(B) Weekly holidays
(€) Compensation for injuries during working
hours

(D) Decent wage

Question k- 15
The Contract Labour Regulation and Abolition Act
in India was enacted in
(A) 1986

(C) 1967

(B) 1970
(D) 1999

Question kd - 16

What has been said about social welfare in the

Directive Principles of the State?

(A) State will secure a social order for the
promotion of welfare of the people.

(B) Equal justice and free legal aid
(€) Right to Work (D) All of these

Question id: 17

14.

15.

16.

1l

gt oW s we sfafa gem
(A) 1987 (B) 1998
(C) 1986 (D) 1967

Cuesion i : 12

o afe s & fay fftte wu | B
(A) 3

€ 2

(B) 4
(o) 7

Question ld: 13

TRAT ISR TETF Rl 8

(A) Fae 19T, IRART B

(8) wrfior & A qft uRaRy @t

(© TRER & sRex B IR © |

(D) Tl wxed o & el uRaRi @l

Question i ; 14
FREE IRERE, 1948 BT 1987 HIRE UGHN
HIdr B
(A) ereaiiie GREm SR @Rey

(B) wr<ifee BRI
(©) @ gver % SR efy & fow el
(D) sfga @

Cueston id: 15
mRa § dfer s e 8RS
sty oy s gam
(A) 1986 (B) 1970
(€) 1967 (D) 1999

Question Id : 16
T ¥ Sy v Rierdl § e et
¥ g F w1 HE T 872
A) I @ wen @ el & fau
T e gifEd & |
(8) v =z AR Fges fAfte wErEd

(€ w1 afer (D) gF |l

Question ld : 17
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18.

19.

20.

21.

22.

23.

24,

When the Unorganised Worker Social Security Act | 18.

was enacted?
(A) 2008 (B) 1999

(€) 1992 (D) 2002

Cuestion ld: 18

The social welfare schemes of the Government of | 19.

India include
(A) Janani Suraksha Yojana

(B) ICDS
(€) Atal Pension Yojana (D) All of these

Question k19

The greatest bottleneck in the implementation of | 20.

social welfare programs in India is
(A) Lack of infoermation to the beneficiaries

(B) Lack of funds
(C) Lack of grass root level machinery
(D) All of these

Question id : 20

Which bank initiated bankable microfinance | 21.

program in India?

(A) RRBs (B) NABARD
(€) s8I (D) SIDBI

CQuestion id : 21
Which of the following is a digital wallet? 22.
(A) Paytm (B) Payment
(C) Orange (D) Pay time

Quesfion Id : 22

Who is appointed as Attorney General of India? 23.

(A) K.K. Venu Gopal (B) Mr. Mukul Rohtagi
(€) Achal Kumar Joti (D) Kaushik Basu ‘

Question bd : 23

Who won Man Booker International prize for | 24.

2017?
(A) Mr. David Grossman (B) Dr. Murthy
(C) Paul Betty (D) Mr. David Huntsman

Cuestion Id: 24

e eiEl ame qrel JRfE B

eI g8
(A) 2008 (B) 1999
() 1992 (D) 2002

Cuestion d : 18
HRA TGN &1 e weg doEel H
(A) S gren Ao (B) ICDS
(€ e e I (D) UE |

Question i : 19

a3 AT weTeT BREH! ¥ ¥ wraaad d
T g7 oFRY T 87
(A) Frafed] B BN @ A
(B) 5y &1 g
(€) IR WY g G FHE
(D) TE |l
Cuestion id : 20
%ﬂ%#mﬁﬁ%-ﬁa@—wm
g
(A) RRBs (8) NABARD
(€) SBI (D) SIDBI

Cuestian i 21

e ¥ ¥ BN A1 e e dive 82

(4) e (B) e
©) @R (D) ¥ eTgH

Cuestion id: 22
R B T oRe ¥ AR W fewat Py

(&) &%, wopEe  (B) A P e
(€) s gaR Wkt (D) IR 99

017 @1 A gHY SRR TR fEe i

-

i PO

(a) o MRy dgma (B <. a2
(©) die It (D) it S EcuHT

Cuestion id 1 24

]
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25.

26.

27.

28.

29.

31.

Which unmanned Tank is developed by DRDO?
(A) "Muntra” (B) “Mantra”

(€) “Mundra” (D) “Manthra”

Cuestion Id: 25

Name the freedom fighter who published ‘Kesari’
to attract Indian youths into the freedom struggle.
(A) Gokhale (B) Tilak

(C) Nehru (D) Savarkar

Question ki : 26

Where can a Money Bill be introduced?
(A) In the Lok Sabha (B) In the Rajya Sabha

(€) In either House of the Parliament
(D) Only in a joint sitting of the two Houses

Question id : 27
Whose signature appears on 100 - rupee notes?
(A) The RBI Governor

(B) The Finance Minister
(€) The Secretary, Ministry of Finance
(D) The President

Question Id : 26
Which is the longest river of the world?
(A) The Nile
(B) The Mississippi - Missouri
(C) The Yangtze (D) The Amazon
Question Id : 29

Which day is celebrated in India as the National
Sports Day?
(A) August 15

(€) September 5

(B) August 29
(D) December 11

Cueston ki 30

Going 50 m to the south of her house, Dimple
turns left and goes another 20 m. Then turning to
the north, she goes 30 m and then starts walking
to her house. In which direction is she walking
now?

(A) North-west (B) North

(€) South-east (D) East

Cuestion i : 31 |

25.

26.

27.

28.

29.

30.

B4, ¥

DRDogmaﬁH@wHa’\fi%ﬁé—csaﬂﬁaw
fpar T ©2
(A) =
(© e

(B) #H=T
(D) HeRT
Cuestion il : 25

@wﬁwaﬁwm:{awﬁﬁwéaﬁq

(A) TRl (B) forered
€ &S (D) HrER@H
Question Id : 28
g fodras @) wal TR a1 S GHaT 82
(A) #rs | | (B) oG Wl H
(€) v & fredy oft wes o
(D) g < wee @ g Jow |
Cueston Id : 27
10078 ¥ e | Rrad TRIER B[ &7

(A) sR&aE TR (B) fox wel
(©) wRm R Fomem (D) xR

Cuestion ki : 28

ReT = gaw o T BE A E?
(A) =& (8) fRARTN-FAER!
(©) Tl (D) s@oH

Cuestion id ;29
fre R BT RE ¥ USIT WOgs fodd & w9
¥ w87
(A) 3T 15 (B) 31 29
(€) fEawsR 5 (D) feE=R 1
sy TR 9 SRor A 50 . v, e @
ﬂ-ﬁ'%aﬁ?aﬂﬁzoiﬁ.mﬁ%|wﬁw
%mﬁ'g@m'soﬁ,ﬁﬁﬁﬁaﬂ?ﬁﬂmﬁm
éﬁ&‘?ﬂﬂﬂl_mﬂaﬂ?ﬂ%ima‘aﬁﬁﬁ
fean ¥ = Y@ 82
(A) Sev-aftEd (8) JITR
(© TfRorgd (o) g@

Question id : 31
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32.

33,

35.

3r.

38.

A party consists of grandmother, father, mother,
four sons and their wives and one son and two
daughters to each of the sons. How many females
are there in all?
(A) 24 (B) 18
(€) 16 (D) 14

Question i : 32
(a)P, Q, R, S, T are sitting in a circle facing the
center.
(b)R is immediate left of T.
(c)P is between Sand T.
Who is immediate left to ‘R’?
(A) P (8) Q
© s DT

Cuestion Id: 33
In a certain code, GUJARAT is written as
JXMDUDW. The code for MUMBAI is
(A) QXQFDL (B) PXPFDL
(C) PXPEDL (D) QXQEDL

Question ki : 34
2;3.57,11.13, 19,23
(A) 15 (B) 17
(€) 14 (D) 18

Question id - 35
If FULFNHW is the code for CRICKET, then EULGH
is the code for which word?
(A) PRIDE (B) BRIDE
(C) BLADE (D) BLIND

Question id : 36
SMELL: NOSE :: SOUND:?
(A) EAR (B) EYE
(€) MusIC (D) TRUMPET

Question Id : 37
Present ages of Samir and Anand are in the ratio

of 5 : 4 respectively. Three years hence, the ratio
of their ages will become 11:9 respectively. What
is Anand’s present age in years?
(A) 24 (B) 27

(€) 40 (D) 35

Quastion ki ; 38

32.

33.

35.

36.

3.

38.

U U H EEl A ﬁwwawgajeﬁ‘\f
Eﬁmﬁmmﬁiﬁaﬁgﬁmaﬁ?
v g3 & | 3 gad fbo AR €2
(A) 24 (B) 18
(€ 16 (D) 14
Cuestion ld: 32
@P, Q R S T ¥ @ 3R TG P [P g
¥ E |
MOR, T & T I8 € |
©P, STA T & dF ¥ 5 |
R & A TN PH E?
A p B) Q
A s o) T
frefl e ww ¥ GUIARAT fram T @
JXMDUDW, @ MUMBAI Terdl SR
(A) QXQFDL (B) PXPFDL
(€} PXPEDL (B) QXQEDL
G & 5 74113, |, 19,23
(&) 15 (B) 17
(C) 14 (D) 18
Cuestion Id : 35

7 EULFNHW @ & CRICKET & fog, @
EULGH fra v & fow @1 22

(A) PRIDE (8) BRIDE
() BLADE (D) BLIND
Cuestion ki | 36
SMELL: NOSE :: SOUND:?
(A) EAR (B) EYE
(€) MUSIC (D) TRUMPET
TAR SR aFTe W T G AL 5 4 D
s ¥ ¥ | o9 W A an SRl AR P

ST FE: 19 B ST | S PG
g aui | e 82
(A) 24
(€} 40

(B) 27

(D) 35

Question Id - 38

Page: 7



https://haryanajobs.in

https://haryanajobs.in

39.

41.

42.

43.

A father said to his son, “At the time of your birth
| was as old as you are now . If the father's age is
38 years now, the son’s age before five years was:

(A) 14 (B) 19
(€) 33 (D) 38

Question ld: 39

FIXED : VARIABLE :: SOLID :?
(A) ELASTIC (B) SPONGE
(€) HARD (D) SOFT

Cuestion kd - 40

If (a—2)2+ (b—2)*+ (c—2)* = 0.Then what

is the value of +/a? + b? + ¢2

(A) 2y2 (B) 243
© 43 (D) 443

Queston d:41
For some integer m, every odd integer is of the
form
(A) 2m (B) 2m +1
€ 2m+4 (D) None of these

Question ld: 42

The equation (x* + 1)? — x* = 0 has

(A) four real roots (B) two real roots

(€) no real roots (D) one real root

Cuestion id: 43

Mahesh, Mukesh and Magan were each born on
15 May, but in different years. Mahesh’s age was
twice old as Mukesh 4 years ago, and Magan will
be five years older than Mukesh one year from
now. If the total age of Mahesh, Mukesh and
Magan is 78, what is Mahesh’s current age?

(A) 32 (B) 30

(€) 29 (D) None of these

Question ki - 44 l

a8.

41.

42.

43.

v fEr e g § PEdl € “gER W &
g A 9F san O ReE RN s g
af anft foer & 99 38 ¥ &, o 9 oY uEd
o3 B 99 o
(A) 14 (B) 19
(€ 33 (D) 38

CQuestion Id - 39
FIXED : VARIABLE : SOLID :?
(A) ELASTIC (B) SPONGE
(© HARD (B) SOFT

Qestond 40
R (@-2)?+@-2P+(-2?=0
JEZE b 3 ¢ B 9 w1 87
(A) 242 (B)

V3

243

(C) (D) 443

Question ld: 41

(A)  2m (B) 2m+1

(€ 2m+4 (D) T | BIE el
Question Id : 42

e (a2 4+1)2—x%=0 P T

(A) TR FRme Hof (B) =1 Zel g

(€ = vl e wE (0) T g g
WWWWWWW%H@E&%
freg P aut & gom £ | WRY, IHW B AR
Wﬁﬁﬁwﬁmwésﬁ?w&a
¥ TF aY A U B Y W gF HA T
B | Afg w8, ﬁﬂmmmﬁaﬂaﬂgﬁmmﬂ
Ydf\*ﬂ}fﬂ‘é“lﬁaﬁ'ﬂﬁ\”ﬂ@?

(A) 32

(€} 29
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45. In the sequence  400,200,100,50,... Find the|45. SO 400,200,100,50, ... J Edt (8th) US @

8th term. (A) 3.125 (B) 4.125
(A) 3.125 (B) 4.125 0 5128 (0) 2.125
(C) 5.125 (D) 2.125 s

Chestion Id: 45

4. A boat goes 30 km upstream and 44 km |46 U@ dre (@) 10 T § 30 km R B fawRE

downstream in 10 hours. In 13 hours, it can go 40 from § 3R 44 km g7 B fewm # O € | 18
km upstream and 55 km downstream. Determine que ¥ g8 40 km 9RT @ Roda fRem § &R
the speed of the stream and that of boat in sfill 55 km T @ feRm F Wt 8 | gRT Bl TR
water. R Rex R # A @ R S BT
(A) Speed of the boat in still water = 8 km/hr and (A) Rex o T @ R = 8 kmihr 3R
speed of stream = 3 km/hr g7 PT T = 3 km/hr
(B) Speed of the boat in still water = 8 km/hr and (B) fex o ¥ g @ U = 8 km/hr 3R
speed of stream = 4 km/hr gRT BT TRT = 4 km/hr
(C) Speed of the boat in still water = 7 km/hr and © fex o ¥ @ @ R = 7 kmihr 3R
speed of stream = 3 km/hr gRT H TR = 3 km/hr
(D) Speed of the boat in still water = 7 km/hr and (0) Rex T ¥ F@ @ AR = 7 kmhr SR
speed of stream = 4 km/hr g7 @ T = 4 kmvhr
Question ld : 48 Question Id : 46
47. \What is the value of §+§? 4. §+§ BT AF w1 87
(A) 45 (8) 45 (A) 45 (8) fE
7 27 ¥ 27
(© 18 (D) None of these (© 18 (D) T & B 7T
28 28
Question ld : 47 Question id | 47
48. \What is the value of 3/100007? 48. 410000 T A R a7
(A) 10 (B) 100 (A) 10 (B) 100
(€) 1000 (D) None of these (€) 1000 (D) g9 & DE TRl
Question Id : 46 Question i |48

49. Mr. Patel borrows? 10,000 to pay for new |49. = geel 3 A BhER & fg 10,000 SER
furniture. They will pay back the loan by making 7 | 98 S99 9 B T 1085 a1 Afae e

12 monthly payments of ¥ 1085. How much does w 12 FEET § fﬁ_‘@ | %0 ® T T T

loan cost? 2rf?

(€) 13,040 (D) None of these (€) 13,040 (D) T W P TE
pLE L CQuestion id: 48
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50.

51,

52.

53.

55.

57.

If LCM and HCF of two numbers a and b are 13
and 182. If a is equal to 26, what is the value of b?
(A) 19 (B) 91
(€) 92 (D) 29

Question ld : 50

Sunken stomatas are present in
(A) Xerophytes (B) Hydrophytes
(C) Mesophytes (D) Epiphytes
Cueston ld: 51

Which body organs are surrounded by Meninges?
(A) Brain and Spinal cord

(B) Heart and Lungs

(C) Brain and Heart (D) Spinal cord and Liver

Cuestion kd : 52
In a forest habitat , green plants are
(A) Primary producers (B) Primary consumers

(C) Secondary consumers

(D) Decomposers

Question i - 53
is based on the phenomenon of
electromagnetic induction.
(A) Electric generator  (B) Electric bulb
(C) Electric fan (D) Tubelight
Question ld: 54 |
What is used to make Solar cells?
(A) Silicon (B) Nickel
(€) Platinum (D) Copper
Question i : 55
Which of the following is not a conductor of
electricity?
(A) Glass (B) Copper
(C) Silver (D) Gold
Cuestion kd : 58

The ability of an eye to focus near and distant
objects by adjusting the focal length. This is due to
(A) Myopia (B) Presbyopia

(€) Accomodation of the eye

(D) Hypermetropia

CQuestion id : 57

50.

51.

52.

53.

55.

56.

57.

Ify <7 GEmsli g @R b @ HEGH HANDD
3R ogaH GEUa 13 iR 182 € | A @ B

uE 26 & @ b B 99 T BRM?

(A) 19 (B) o1
Q) 92 (D) 29
Cuestion d : 50
fyps gU W AR BF &
(A) woge (B) wreligfog
() Tarefe (D) gy
\ Chiestion ki : 51

PR ¥ B ¢ o af¥eT R AERd 8 82
(A) TRaes g7 Avee (B) B dAT BHS

(€ #Ras don geg (D) #Avds R AP

Cuestion Id : 52
o e Frawd #, sRa uey g6 €
(A) Tofe Saes (B) Tufe S
(€) fe<iae Sudesn (D) JUEcS
Question id ; 53
__ foepgeea WO @ O (TTEIOTeheTT)
N Q:I-F'I af E|
(A) frem < (B) foge e
(©) frege o (0) egeeEe
Question i - 54
wer e T T g e
(8) Rifei (8) ffeper
(© (D) SR (i)
Cuestion kd : 55
Pt 3 @ @ W e T T &
(&) 1= (B) e
(C) =7 (2) &
Cuestion id : 56
il @ Ao 9 gF B I Pl Pl
ST BT AN BRe Pred B B &
HT PRUT B
(A) Freegfie (8) gegfiea

(€) sid &1 FaEeE (D) EIoRHSIaRT

Cuestion ki 57
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58. Which ions are formed by metal atoms? 58. gTfcas R A DI A T I 82
(A) Positive (B) Negative (A) AT (B) ZuTHd
(C) Neutral (D) None (€) Serfe (D) Hrg 7@l
Cuestion id : 58 Cuestion id : 58
59. Which of the following is a strong acid? 59. =1 § 9§ B 9T Y¥el RIS 87
(A) H3PO, (B) HF (A H3PO, (8) HF
© HNO, (B) H,C,0, ©  HNO, (B} H,C,0,
Question ld : 59 Cuestion id : 59
60. The modern periodic table is given by 60. ITIFE SRl WRON & g '
(A) Mendeleev (B) Einstein (A) FUSiE (B) 3MEARETSA
(©) Bohr (D) Moosely (€ T (D) A=A
Cuestion ki : 60 Casestion bd - 60
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61.

62.

63.

85.

ENGLISH LANGUAGE

Select the word or group of words from the
following that is most similar in meaning to the
word in Capital Letters.

EXPOSTULATED

(A) Requested

(B) Quarrelled ferociously
(C) Remonstrated
(D) Appealed with good reason

Questian ki : 61

Select the word or group of words from the
following that is most similar in meaning to the
word in Capital Letters.

PLACATE
(A) Implore (B) Flatter
(€) Pacify (D) Compensate

Question ld : 62

Select the word or group of words from the
following that is opposite in meaning to the word
in Capital Letters.

ABOLISH

(A) revoke (B) repair

(C) suppress (D) terminate

Cuestion ki 83

Select the word or group of words from the
following that is opposite in meaning to the word
in Capital Letters.
CONTENT

(A) exhausted

(C) dissatisfied

(B) peaceful
(D) excited

CQuestion ki 64

In the following question, four alternatives are
given for the Idiom/Phrase. Choose the alternative
which best expresses the meaning of the
Idiom/Phrase.
A close shave
(A) stubble

(€) very short hair

(B) hairless skin

(D) a narrow escape from danger

Cuestion ki | 65

66.

67.

68.

69.

70.

In the following question, four alternatives are
given for the Idiom/Phrase in the sentence.
Choose the alternative which best expresses the
meaning of the Idiom/Phrase.

After getting a severe scolding from his mother,
Raghav got down to business.

(A) joined his father's business.

() began to work seriously.

(€) became businesslike. (D) started a business.
Cueestion Id - 58

Give one word substitute for the following
expression.

One who is unable to pay his debts.

(A) Matinee (B) Credulous

(€) Soporific (D) Insolvent

Cuiestion i | 67
Give one word substitute for the following
expression.

A speech delivered without any previous

preparation.
(A) Cosmopolite (B) Extempore
(C) Theist (D) Idolatry

Question Id - 68
Supply suitable article in the following blank if
needed.

Heis | doctor.
{A) a (B) an
(C) the (D) no article needed.

Cuestion kd : 69
Supply suitable article in the following blank if
needead.
He drives at a speed of 90 miles

hour.
(A) a (B) an
(C) the (D) no article needed.

Chiestion id | 70
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71.

T2.

73.

74.

75.

76.

T

for<Y wrsn
3 B | ©
(A) waq (B) wra
(€ Ja= (D) wa=
Ay v BT qAgard! B
(A) %=, B (B) T, BMHTT
(€) TR, S@aE (D) =T, SUTH
R TG 1 TETEErd @ e
(A) #cS (B) FHa
(© <f (D) g
HU YE H1 A 8
(A) FF (B) farirer
(€ v (D) SR
AR TR B AAM 2
(A) 7 (B) =R
(© =iRa® (D) 31y
RS P | e BT 7 T
(A) &R B (B) o | HHR Sl
© @yt @ (D) Tga WEE B

i@ T ST AN TG A &1 wEl 3R
g

(A) T g TH BN

(8) 7 % fareg A B

() ofig @ fawarg =1 <1

(D) Sy A ST AT B

Question d: 77

78.

79.

80.

o fwel gew S IR § ord SR
R YEifed 3§ B W IEHR 272

(A) TFBRT TP AADR
(B) THF IRAGR
(C) oF ™ 3P (D) w5 &l
Cuestion |d: 78
ARYe TG 1 BN G THR 87
(&) sendftye @a (B) TRgRY HAN
(€) FHIRT THN (D) fg7 @
Rrer % @ B @ I WE E?
(A) eeitarE (B) Twoaet
(€ wRRE (D) |
Cuestion ki : 80
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81.

82.

83.

85.

86,

87.

88.

Near which district of Haryana Morni hills are
situated?

(A) Panchkula (B) Karnal
(C) Yamunanagar (D) Ambala
(uestion ld : 81
First Chief Minister of Haryana State was
(A) B.D. Sharma (B) Bansi Lal
(C) Devi Lal (D) None of these
Question Id ; §2

Neem Sahib Gurudwara is located in which
district of Haryana?

(A) Panipat (B) Panchkula

(€) Kaithal (D) Rewari

Question ki : 83
During which year Haryana state was formed?
(A) 1947 (B) 1950
(€) 1956 (D) 1966

Queston Id : B4
Rao Tula Ram belonged to

(A) Narnaul (B) Mahendragarh

(C) Rewari (D) Rohtak

Question Id : 85
Which of the following lakes is situated in
Haryana?
(A) Damdama Lake (B) Kotla Lake
(€) Khalilpur Lake (D) All of these

Question Id : B&

The festival of Gangaur is celebrated in the month
of
(A) January-February

(€) May-June

(B) March-April
(D) June-July

Cuestion id : 87

How many seats are allotted to the members of
Rajya Sabha from Haryana State?
(A) 5 (B) 8

() 10 (D) 12

C.‘mshmld:as‘

81.

82.

83.

85.

86.

87.

88.

RaT % fow R ¥ Pee AW wERE
Rera €2

(A) dege (B) @A
(€) THITR (D) arTel
Question ja: 81
=Ramon I B wE g WA 9
(A) S8 A (8) d=aTe
(€) <t (D) g7H Q@ B Bl
Cueston ki 62
S$q @ity eeER ERaen ¥ R R § R
27
(A) Triae (B) gagel
© Hua (D) aTs!
o o€ # eRaon I B TeT g
(A) 1947 () 1950
(€) 1956 (D) 1966
g GERM @ 8§
(A) T~ | (8) wE=T% W
(€) XTrEt | (D) JgTd |
Question ki1 85
frmr 3 ¥ o § oW @ dia R &2
(A) <HEAT S (8) wica el
(C) weflelyR e (D) & |

(A) SER-TpRE (8) wyr-ardre

(€) FE-5 (D) -l
%JTW"WWTW@ﬁSWM
Pt @1 amde fear T 82

(A) 5 (8) 8

€ 10 (D) 12

Quiestion ki : 88
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89,

90.

91.

92.

93.

95.

Which of the following States is located to the
North of Haryana?
(A) Uttar Pradesh

(€) Himachal Pradesh

(B) Delhi
(D) Rajasthan

Cuestion |d: 89
Which one of the following was 21st district of
Haryana?

(A) Gurugram (B) Mahendragarh

(C) Yamunanagar (D) Palwal

Question ki : 90
Shri Kaptan Singh Solanki is Governor of
Haryana.
(A) 13th (B) 16th
(C) 14th (D) 15th

Question |d: 51
The birth place of Yoga Guru ‘Baba Ram Deo’ is in
the district of -
(A) Gurugram (B) Rewari
(€) Mahendragarh (D) Bhiwani

Cuestion kd : 52
Which is the State Bird of Haryana?
(A) Hawk (B) Pigeon
(€) Black Francolin (D) Peacock

Question Id : 93
Who was the Editor of ‘Haryana Tilak' weekly

magazine?
(A) Nekiram Sharma

(C) Baldeo Singh

(B) Shriram Sharma
(D) Sir Chhotu Ram

Question |d : 84
Whom did Akbar defeat in the Second Battle of |
Panipat?
(A) Bairam Khan (B) Udai Singh
(€) Rana Pratap (D) Hemu

Cusestion ki ; 95

Area-wise which of the following is smallest
district of Haryana?
(A) Sirsa

(€) Panchkula

(B) Hisar
(D) Jhajjar

Question |d - 56 |

89.

90.

91.

92.

93.

94, =]

95,

96.

g & Fox § FeEfeRed § € @9 |91 I
ferg g7

(A) TR U9 (B) feeolt
(©) RumEer uew (D) 3T

Cuestion kd - 89
e & | e 9 R sRaon w1 2m@Er R
277
(A) B9 (B) HE==Te
(C) g (D) uerge

Cuestion id : 90
5 s g ool R &
(A) 133 (B) 169
(€) 14d (D) 159

Cuestion Id ;91

AT TS @ IEed Bl o W fed Rt |

(A) THIH (8) w
(€) we=Ts (D) Fyer

Question id . 52
=R B g 9 B AT 82
(A) st (8) wEER
(€ wrem dR (D) AR

——
=RawT Roe afes e & g9 B
() R v (8) sfvmy o
(C) gorT RiE (D) TR BIM

Question id: 84

o @l gEY ASE W ameR | fhel W

g 9417

(A) &9 = @ (B) weaRig &
(€) 7o W&y Y (D) By @&l
Quastion k95

g%y & IER E F ¥ ERamm @1 wed
(A) fHwaT

() dagpel

(B) f2aR
(D) FoSR

Question Id - 86
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97. Who is the Home Minister of Haryana?
(A) Rambilas Sharma (B) Captain Abhimanyu

(C) Manohar Lal Khattar (D) Rao Narbir Singh

Question id : 97

98. The International Crafts Mela of Surajkund is
organised at which district?
(A) Karnal (B) Gurugram
(€) Ambala (D) Faridabad
CQuestion Id 1 93
99. Who is the Agriculture Minister of Haryana State?
(A) Shri Ram Bilas Sharma
(B) Shri Anil Vij
(€) Shri Omprakash Dhankar
(D) None of these
Cuestion Id : 99
100. In Haryana Legislative Assembly who is leader of

opposition?

(A) Bhupinder Singh Hooda
(B) Om Prakash Barwa

(€) Abhay Singh Chautala
(D) None of these

Question Id: 100

or. ERYN B T HIA B 22

(A) e oMl (B) dwe sifmyg
(©) #HRR o @cex () v RER Rig

9. IUHE Bl ARG Hiucd don o Rrer #

e BT 87

(A) T (B) uH

(C) 3fgrer (D) wileETg

Question i ; 98

9. ERITT I F B T B &2

(A) £ ymfdems W (B) s v R

(€) s IHaBTE gThS

(D) 379 @ @E &l

100. sRgo fAy™ @Y ¥ oI fRQus &1 4 22

(A) gz Riw ger (B) alvy werer e
(€) sz Rizg deen (D) 399 & s 78
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TH WOA-UT F §F @ ¥ T oAl el w9
aegfit & v oy &gy

10.

11.
. IRdieTr gERT wae-g A7 sufeufd gve F et & e fev gu e #

13,

14.

18:
.MsﬁmﬁﬂOMRmm@mmﬁﬁm@ﬁaﬁz|zﬁ"’q'a.-r:%:omﬁ;:—?xqaa;@?-’nnféwéa’rqﬁaﬁmsaqr*ﬁ‘m‘

1.
| ST HawE FeNUT FIAUIGEE SeaR-UTE M § | Sea-ade & aeee 1 HeE Al o |
19.

18

20.

AT ST FT ge FY AN uF e ¥ v PR 3w wefiw 2 §
m&#ﬂ%ﬁmaﬁﬁﬁ?mﬁgﬁrmor{qaﬂrwOMRzemuﬁénﬂmﬁa’rm%lamzﬁu"rﬁma’rm
%%Wﬁm*mmﬁﬁﬁﬁ?mmeMRﬁiﬁW?H&ﬁq}ﬁ&ﬁﬁa}?ﬁgﬂ?&ﬁ?gﬁ%&ﬁ
mﬁaﬂﬁ‘raﬁ‘rugifr%‘|ﬁr&ﬁﬁrmﬁmcﬁmwmaﬁaﬁqﬁ'&aﬁsﬁiﬁgﬁﬁtmommmmm
aifee | gfeT Wi B & o fBae gvard v e W RER A6 mar s |
wgﬁﬂwmomaﬁmmﬁmmﬂﬁwmﬂmﬁn

yeer-gieeeT 3 OMR ek 9 & fell ff qvc &F &1 & s 3R & A% |

raiat &Y Tose TEART YEN-UF o B, O W oEe & F i EiE el 5e F;Fwﬁtmmm%vaﬁeﬁm@%l
56 P B RRY o HOE qaT SN g WRT | g s Wil S g U aRea-, o R g anhe,
mmm-w,mm.mmmﬁﬁ#ﬁéwmﬂ-mwam}ﬁaﬁ?|aﬂﬂ?aaﬁﬁa‘tmaﬁm’ftﬁrw—aﬁaftmr
&1 argafa 7€ & s |

sl OMR o997 # o, U o, 3K q@oie &, & ot | 4R geee A, & v R 0 W Wl oler S ¥ oar v &
st geere . T Ry e § ar MEmgER @n #R I aFr w6 a0 § A 5% oed aUF § S G ghere #. FeT Feem
AR FeR-TTF T e AG AT Snwn | geec 7. fome F R o awn & 3R o gw g Wl wg @ oRomA @
st % AT Seeardy g | qe-arerel TR A grr & S @ S FAnsed 3o gl g & FeS @ e Suedfa-TaE
W, OMR 3R 99& R 3K aaiRs amshar & & i 3R v o1 g&eR o F07 |

qReeler 3 URdeTE d SRR & TR # AT W & W # gedel w1 ¢ 3R HE F AU & §

safiat ) FaEe & o ¥ & F OMR eaeas & R off gow s FETERE WU gt HiX o @ 38§ A | OMR 3&R
v ¥ F ot e 3w & Teaw 3@ Brew § e s, dg cos, w9 G geri / ARy FiE w1 wanr @ e s
mﬂwﬂﬁrqfammm%Inﬁmmﬁﬁmmmﬁmaﬂ'faﬁ'l'mt'awﬁthﬁmaﬁmm|
Iefiat Fr YAt & e ¥ B ¥ wer, A v, R o g @ oA, dee Toreie T HeUR gedr 4, O, 9, Wi
emmmgmmxmmmmmﬁnaaﬁmag_ T, U, A A Tgere HT SHRI A7 R o FER A
FTEOT UEet| g ot & @ RRe of snemdi w ofwngle # wew wEl G e | SERe F ex e et & 9w AR
Hratga e a1 O & Fé T e seaw I R I g, 9 ST ¥ @ 3u Fgw @ R Seegs A Feen 3R gder 7
Safr FITEET BIeT ¢ & onwh dur siasy F o Sy el alenst o safee g ) o fdees s faar Sme |

T GhET % RYETT & GOe-der A AU ¥ Ted aeneh ¥ wfafem, CCTV dR. R @ § e & P det et
AT, WY e, AfRTEmAr 3R SFET F AT A WA § @ e a1 U & =% #R s el & TE W RS gE ol
a8 EF |

oheT-Fe  aRaae ar gdeel F Wi & aRade & ey F B o7 gl f oaren R EER Se e S |

T sl & fear snwem | nwdt 3R 3EE wE
Feamoer AT vgme & R o weR & iy ow S o) el @ qlET & ey # AT wel & el 3R g FOiEsE
HiFRT F1 9ry gem

=7 OMR SeaR-avd &1 it wferat &, s of, s sfe var e o | s e seer & & | OMR 3zex 3% $1 d=r ufaat &
el FT I3 FT F F | gt ofeT FAT g WM AN SeR-TEE ST el @ e R e wE oRYeS &
s 9 et W T GROER GERT e 0k 3ok & & SN | snel HeA E1Y s SR gRee &1 & S T § |

TF ST F UR dsfous 3ot T aw § HAA § Fad UF ®WE 6 | geiE 995 & 300 & T&U OMR 3&R 9% H $dd 39 TH
MY Fr 9T F AR & ¥ o a0 T SeeR wAe € | UE TR WA EANT ITFE FUT I Haw He AT Fo -0 § FEE |
et F e & v AfFES T A8 S e

oRET & vew 3R 3w A B & 2ue B ofr anrelt @y (Sree/aes) 9 AR @ el de a s |

FE ¥ TRA HIAT FEAER W & AR 3@ W T e |
ITUF IeACTTE Y AT SeFelee EhiveT TEUA F H A | FYU AT e HE ORI SeaR-I9F FAWE @ Fhar ¢ |

dfFT & wEr et F EE gHg A B ® 7 @@ aeneer s | 9 61 wsR T HTUE STl B FIeT T & ot HOF 3ok
P e AT FC A XX IR F AedEA AG g |

ofE P el SR R T OTee AET AR ¥ AT AT ST AT ¥ A AT EReER 3 ey FEEd SO, W
FRReT 3¢ wfasy & & o el afemet & off afe RRET ST el € | See @ee soafiE FEEET & e 8T g BT S e
gl
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